

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 4, 2024

Progress Estimate Number	Contract ID	240119-F01	Pay Period Start October 16, 2024	Original Contract Amount	\$4,749,461.40
15	Prime Contracto	or N.B. West Contracting Compar	ny Pay Period End November 1, 2024	Net Change Order Amount	\$35,627.83
15				Current Contract Amount	\$4,785,089.23

Approval Date		By User
November 4, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	krausm2
November 4, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	REDHAC
November 5, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		99.64%

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	February 14, 2024	February 14, 2024	
Letting Date	January 19, 2024	January 19, 2024	
Notice to Proceed Date	March 11, 2024	March 11, 2024	
Open to Traffic Date			
Work Began Date			

Contract Total Pay For Estimate No. 15								
		This Estimate	Previous	To Date				
240119-F01								
	Total Posted Items Pay	\$255,977.09	\$4,511,836.43	\$4,767,813.52				
	Gross Item Adjustments	(\$64,803.74)	(\$48,128.34)	(\$112,932.08)				
	Incentive	\$0.00	\$0.00	\$0.00				
	Disincentive	\$0.00	\$0.00	\$0.00				
	Liquidated Damage	\$0.00	\$0.00	\$0.00				
	Other Contract Adjustments	\$0.00	\$3,596.23	\$3,596.23				
			\$4,467,304.32	\$4,658,477.67				
Contract Total Payable	e This Estimate:	\$191,173.35						

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3609	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$165,000.000	0.25	\$41,250.00
	0020	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENTS	100F	\$1,200.000	26.9	\$32,280.00
	0230	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, $ 6 \text{IN}. $ WHITE	LF	\$3.750	232	\$870.00
	0240	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$17.750	791	\$14,040.25
	0250	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	LF	\$17.750	240	\$4,260.00
	0260	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$250.000	27	\$6,750.00
	0270	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	EA	\$200.000	6	\$1,200.00
	0280	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	EA	\$350.000	9	\$3,150.00
	0290	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	EA	\$250.000	2	\$500.00
	0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS $$	LF	\$0.220	32,278	\$7,101.16
	0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.230	29,416	\$6,765.68
	0330	6207001	PAVEMENT MARKING REMOVAL	LF	\$0.500	2,102	\$1,051.00
	0340	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	EA	\$27.000	59	\$1,593.00
	0390	6061060	MGS GUARDRAIL	LF	\$24.000	2,237.5	\$53,700.00

Revision 3/23/2023 Page 1 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 4, 2024

Progress Estimate Number	Contract ID	240119-F01	Pay Period Start October 16, 202	4 Original Contract Amount	\$4,749,461.40
15	Prime Contracto	r N.B. West Contracting Compan	y Pay Period End November 1, 202	24 Net Change Order Amount	\$35,627.83
10				Current Contract Amount	\$4,785,089.23

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3609	0400	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$28.000	137.5	\$3,850.00
	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,500.000	6	\$15,000.00
	0440	9026200	CONDUIT, 2 IN., MEDIAN WITH TRACER WIRE	LF	\$30.000	16	\$480.00
	0450	9028308	CABLE, 16 AWG 2 CONDUCTOR	LF	\$1.200	240	\$288.00
	0470	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTON AND SIGNING VERBAL WALK MESSAGE	EA	\$1,900.000	4	\$7,600.00
	0480	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	EA	\$670.000	4	\$2,680.00
	0490	9029902	MISC.PEDESTRIAN PUSH BUTTON STANCHION	EA	\$1,400.000	3	\$4,200.00
	0520	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	EA	\$44,218.000	1	\$44,218.00
	0570	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	EA	\$150.000	18	\$2,700.00
	0680	9039902	MISC.18 IN. SURFACE-MOUNT DELINEATOR POST	EA	\$150.000	3	\$450.00
Project J6S	3609 - Tota	al					\$255,977.09
Overall - To	otal						\$255,977.09

Contract Adjustments This Estimate

ne item	<u>Aajust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
l6S3609	0150	MISC.	Material			-8	\$3,050.00	(\$24,400.0
	0150	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	8	\$3,050.00	\$24,400.00
	0160	MISC.	Material			-6	\$903.00	(\$5,418.0
	0160	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	6	\$903.00	\$5,418.00
	0230	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material			-232	\$3.75	(\$870.00
	0250	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material			-240	\$17.75	(\$4,260.0
	0260	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-27	\$250.00	(\$6,750.0
	0270	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	Material			-6	\$200.00	(\$1,200.0
	0280	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	Material			-9	\$350.00	(\$3,150.0
	0290	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	Material			-2	\$250.00	(\$500.0

Page 2 of 21 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 4, 2024

Progress Estimate Number
15

Contract ID 240119-F01 Pay Period Start October 16, 2024 Original Contract Amount \$4,749,461.40
Prime Contractor N.B. West Contracting Company Pay Period End November 1, 2024 Net Change Order Amount \$35,627.83
Current Contract Amount \$4,785,089.23

ect ber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
609	0390	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$32,145.02
	0400	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun			-87.5	\$28.00	(\$2,450.0
	0400	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun			-50	\$28.00	(\$1,400.0
	0420	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$9,972.2
	0450	CABLE, 16 AWG 2 CONDUCTOR	Material			-240	\$1.20	(\$288.0
	0450	CABLE, 16 AWG 2 CONDUCTOR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user krausm2 overridding Payment Estimate Exception 11 on the current Payment Estimate.	240	\$1.20	\$288.0
	0470	MISC.	Material			-4	\$1,900.00	(\$7,600.0
	0470	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user krausm2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	4	\$1,900.00	\$7,600.00
	0480	MISC.	Material			-4	\$670.00	(\$2,680.0
	0480	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user krausm2 overridding Payment Estimate Exception 13 on the current Payment Estimate.	4	\$670.00	\$2,680.0
	0490	MISC.	Overrun			-1	\$1,400.00	(\$1,400.00
	0490	MISC.	Material			-3	\$1,400.00	(\$4,200.0
	0490	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user krausm2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	3	\$1,400.00	\$4,200.00
	0520	MISC.	Material			-1	\$44,218.00	(\$44,218.0
	0520	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user krausm2 overridding Payment Estimate Exception 15 on the current Payment Estimate.	1	\$44,218.00	\$44,218.00
	0570	36 IN. SURFACE-MOUNT DELINEATOR POST	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$621.00
	0680	MISC.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$85.50
	0720	CURB BLOCKOUT	Material			-205	\$170.00	(\$34,850.0
	0720	CURB BLOCKOUT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user krausm2 overridding Payment Estimate Exception 10 on the current Payment Estimate.	205	\$170.00	\$34,850.0
	5002	EMULSIFIED ASPHALT, SEAL COAT	MaterialCredit			728	\$3.00	\$2,184.0
	5002	EMULSIFIED ASPHALT, SEAL COAT	Material			-728	\$3.00	(\$2,184.00

Revision 3/23/2023 Page 3 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information		
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J6S3609	FAS S503(33)	Resurface, ADA improvements, and bridge rehabilitation	NOR I-44, SOR I-44	FRANKLIN	from Crawford Co. line	e to Route 47 and from Exit 2:	25 (Rte. WW) to Exit 226 (Rte. AF)	
otals by	Job Numbe	rs						
J6S3609		d Item Pay Item Adjustmen		tem Pay	This Estimate \$255,977.09 (\$64,803.74) \$191,173.35	Previous \$4,511,836.43 (\$48,128.34) \$4,463,708.09	To Date \$4,767,813.52 (\$112,932.08) \$4,654,881.44	
	Incent				\$0.00	\$0.00	\$0.00	
	Disino	entive lated Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		Contract Adjust	ments		\$0.00	\$3.596.23	\$3.596.23	

Revision 3/23/2023 Page 4 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exergence / Exerge	Exceptions (Discrepancies) This Estimate Period			
Number 2002, Material Set 4601 (1948), Relaterial 1918 ACH PERS-P: Emulsion CHFRS-217, Receptions Public Chemistre Auginitusions in semillicent. Estimate Exception Type: Insufficient Materials Project (18500), Item (1860002), Project Item Line Record. Availing St. Mid-OT Materials to tag Line Number in Sample Record. Marine '0100, Materials to 1909 (1918) American 1905 (1918) Ameri	Exceptions / Discrepencies	Explanation		Status
Namber 0105, Material Set 60000003, Material 105500MLT TO - Clear Prevented Cury (non-dispating) (B, Acceptance Action Generic 10500MLT TO) a multiflicent. Elementa Exception Type: Insufficient Materials Project 455000, Bern 60000003, Project Item Line Action Centre County (Project Insufficient). Elementa Exception Type: Insufficient Materials 10500MLT TO) Center Prevented County (Project Insufficient). Elementa Exception Type: Insufficient Materials 10500MLT TO) Project Insufficient Materials 10500MLT The Protomed Thermoplastic Material Project Action Center (Policy Project Insufficient). Elementa Exception Type: Insufficient Materials 10500MLT The Protomed Thermoplastic Material Project Insufficient Materials 10500MLT The Protomed Thermoplastic Material Project Insufficient Materials 10500MLT The Protomed Thermoplastic Material Project Insufficient Materials 10500MLT The Produced Thermoplastic Material Project Insufficient Materials Project	Number 5002, Material Set 409104896, Material 1015EA.CHFRS-2P - Emulsion CHFRS-2P,	Awaiting contractor to provide Bill of Lading.	krausm2	Acknowledged
Names of 1866. Material Set 6009505. Material 1055/DMLT101 - Clear Pavement Cure (non-dissipating) Record. Editimate Exception Type: Insufficient Materials: Project 355506. Item 6200002. Project Item Line Line Exception Type: Insufficient Materials: Project 355506. Item 62000015. Project Item Line Line Exception Type: Insufficient Materials: Project 355506. Item 6200015. Project Item Line Line Exception Type: Insufficient Materials: Project 355506. Item 6200017. Project Item Line Number 0250. Materials of e10001016. Material 1045/MFPVFH in sufficient Extension Exception Type: Insufficient Materials: Project 355506. Item 6200017. Project Item Line Number 0250. Materials of e10001016. Materials	Number 0150, Material Set 608990296, Material 1055CMMLT1D - Clear Pavement Cure (non-		krausm2	Overridden
Number (230, Material Set 62000096), Material SPHPPWH in Profestional Transmitter (1898) (An experiment action Centre 1 (1894) PPWH in Profestional Transmitter (1894) (An experiment action Centre 1 (1894) PPWH in Profestional Transmitter (1894) (An experiment action Centre 1 (1894) PPWH in Profestional Transmitter (1894) (An experiment action Centre 1 (1894) PPWH in International Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insufficient. Frag. V. Acceptance Action Centre 1 (1894) PPWH is insuffi	Number 0160, Material Set 6099903, Material 1055CMMLT1D - Clear Pavement Cure (non-dissipating)		krausm2	Overridden
Number 0250, Material Sel 602001 (896, Material ModePMPFVL - Preformed Thermoplastic Marking) Tape VIA, Acceptance Action Generio 10148/MPFVH is insufficient. Estimate Exception Type: Insufficient Materials Project J853000, Item 6200024, Project Item Line Number 0250, Material Sel 620002148 (Assertal J 0858MPMPVH) in insufficient. Estimate Exception Type: Insufficient Materials Project J853000, Item 6200024, Project Item Line Number 0250, Material Sel 620002149 (Assertal J853000). Item 6200024, Project Item Line Number 0250, Material Sel 620002460, Material 1048/MPFVH - Preformed Thermoplastic Marking Tape VIA, Acceptance Action Generic 1048/MPFVH - Preformed Thermoplastic Marking Tape VIA, Acceptance Action Generic 1048/MPFVH - Preformed Thermoplastic Marking Tape VIA, Acceptance Action Generic 1048/MPFVH is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 6200007, Project Item Line Number 0250, Material 1048/MPFVH is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 0300000, Project Item Line Number 0250, Material Sel 700460006, Material 1058/MPFVH is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 0300000, Project Item Line Number 0250, Material Sel 700460006, Material 1058/SSIL - Concrete Seafer (CS) - Silane 6, Acceptance Action Generic 1053CSSIL is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 0029002, Project Item Line Number 0450, Material Sel 700460006, Material 0505CSIL - Concrete Seafer (CS) - Silane 6, Acceptance Action Generic 1053CSSIL is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 0029002, Project Item Line Number 0450, Material Sel 700460006, Material 0507CSIXX - Traffic Signatio Material, Acceptance Action Generic 0007CSIXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 0029002, Project Item Line Number 0450, Material Sel 700460000000000000000000000000000000000	Number 0230, Material Set 620000996, Material 1048PMPFWH - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0260, Material Set 620002196, Material O48PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH is insufficient Materials Set 02000206, Material 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH is insufficient Materials Set 02000206, Material 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH is insufficient Materials Set 02000206, Material 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH is insufficient Materials Set 02000279, Material 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH - Performed Thermoplasic Marking White Whi	Number 0250, Material Set 620001896, Material 1048PMPFYL - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0270, Material Set 820002498, Material 1048PMPFWH is insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 6200027, Project Item Line Number 0280, Material Set 820002598, Material 1048PMPFWH is insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 6200027, Project Item Line Number 0280, Material Set 820002598, Material 1048PMPFWH is insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 6200027, Project Item Line Number 0280, Material 1048PMPFWH is insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 920002, Project Item Line Number 0780, Material 1048PMPFWH is insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 920002, Project Item Line Number 0780, Material 90000000, Material 1036SSSI Insufficient. Elitaniae Exception Type: Insufficient Materials: Project US\$300, Item 92000000000000000000000000000000000000	Number 0260, Material Set 620002196, Material 1048PMPFWH - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0290. Material Set 620002796, Material 1048PMPFWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J653000, Item 9200030, Project Item Line Number 0200. Material 1048058, Material 1048064MPFWH - Preformed Thermoplastic Marking Tape Wh. Acceptance Action Generic 1048PMPFWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J653000, Item 9203008, Project Item Line Number 0720. Material Set 70340008, Material 104805SSIL - Concrete Sealer (CS) - Silane Acceptance Action Generic 1048PMPFWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 9028008, Project Item Line Number 0450, Material Set 90280098, Material 1049075WX - Traffic Signals Material, Acceptance Action Generic 105305SSIL in Insufficient Materials: Project J853000, Item 9028008, Project Item Line Number 0450, Material Set 902800908, Material 1049075WX - Traffic Signals Material, Acceptance Action Generic 105025W3 insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 9029902, Project Item Line Number 0400, Material Set 9029902, Material 90275WX - Traffic Signals Material, Acceptance Action Generic 090275WX is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 9029902, Project Item Line Number 0400, Material Set 9029902, Material 90275WX - Traffic Signals Material, Acceptance Action Generic 090275WX is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 90275WX - Traffic Signals Material, Acceptance Action Generic 090275WX is insufficient. Estimate Exception Type: Insufficient Materials: Project J853000, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 902975WX - Traffic Signals Material, Acceptance Action Generic 090275WX is insufficient. Estimate Exception Type: Item Overrun: Contract 20119-610, Contract Project J853000, Project Item Line Number 0400, Contract Lin	Number 0270, Material Set 620002496, Material 1048PMPFWH - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0290, Material Set 820003096, Material Ost 87MPFWH - Preformed Thermoplastic Marking Tape WIN, Acceptance Action Generic 1048PMFFWH is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853809, Item 7034900, Project Item Line Number 0720, Material Set 97034000, Material Set 97034000, Material Set 97034000, Material Set 90250969, Material 0502TSXX - Traffic Signals Material, Acceptance Action Generic 1053CSSUL is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853800, Item 9029902, Project Item Line Number 0470, Material Set 90250969, Material 0502TSXX - Traffic Signals Material, Acceptance Action Generic 0502TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853800, Item 9029902, Project Item Line Number 0470, Material Set 9025902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853800, Item 9029902, Project Item Line Number 0400, Material Set 9025902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853800, Item 9029902, Project Item Line Number 0400, Material Set 9025902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1853800, Item 9025902, Project Item Line Number 0400, Material Set 9025902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J853800, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061051, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J853800, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061051, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contrac	Number 0280, Material Set 620002796, Material 1048PMPFWH - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0720, Material Set 703400096, Material 1053CSSIL is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 902902, Project Item Line Number 0409, Material Set 902902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0408, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0480, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0480, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 0929902, Project Item Line Number 0490, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 20119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 08061061, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract	Number 0290, Material Set 620003096, Material 1048PMPFWH - Preformed Thermoplastic Marking	Awaiting contractor to provide certification.	krausm2	Acknowledged
Number 0450, Material Set 902830886, Material 0902TSXX : Traffic Signals Material, Acceptance Action Generic 0902TSXI sinsufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0470, Material Set 9028902, Material Set 9028902, Material Set 9028902, Material Set 9028902, Project Item Line Number 0470, Material Set 9028902, Material Set 9028902, Material Set 9028902, Material 9028902, Project Item Line Number 0480, Material Set 9028902, Material 9002TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 9002TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0520, Material Set 9029902, Material 9092TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 200115-F01, Contract Project J6S3609, Project Item Line Number 0520, Material Set 9029902, Material 9002TSXX - Traffic Signals Material, Acceptance Action Generic 09002TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 201115-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061061, Minor Item. Estimate Exception Type: Item Overrun: Contract 201115-F01, Contract Project J6S3609, Project Item Cline Number 0400, Contract Line Item Number 0400, Item 6081061, Minor Item. Estimate Exception Type: Item Overrun: Contract 201115-F01, Contract Project J6S3609, Project Item Cline Number 0400, Contract Line Item Number 0400, Item 608902, Minor Item. Estimate Exception Type: Item Overrun: Contract 201115-F01, Contract Project J6S3609, Project Item Cline Number 0400, Contract Line Item Number 0400, Item 608902, Minor Item. Estimate Exception Type: Item Overrun:	Number 0720, Material Set 703460096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @,	Awaiting contractor to provide PAL.	krausm2	Overridden
Number 0470, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0480, Material Set 3029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0490, Material Set 3029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0400, Material Set 3029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Project Item Line Number 0400, Material Set 3029902, Material Set 302902, Project Item Line Number 0400, Material Set 3029902, Material 9029502, Project Item Line Number 0400, Material Set 3029002, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01. Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240	Number 0450, Material Set 902830896, Material 0902TSXX - Traffic Signals Material, Acceptance	Inspector to tag Line Number in Sample Record.	krausm2	Overridden
Number 0480, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0490, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0520, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061061, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exc	Number 0470, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action	Inspector to tag Line Number in Sample Record.	krausm2	Overridden
Number 0490, Material Set 9029902, Material 19902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 9029902, Project Item Line Number 0520, Material Set 9029902, Material 19902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061081, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0150, Contract Line Item Number 0150, Item 6089902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0150, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0101, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0101, Item 5081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 2401119-F01, Contract Project J6S3609, Project	Number 0480, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action	Inspector to tag Line Number in Sample Record.	krausm2	Overridden
Number 0520, Material Set 90/29902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061061, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0150, Contract Line Item Number 0150, Item 6089902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Line 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 01100, Item 6086004, M	Number 0490, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action	Inspector to tag Line Number in Sample Record.	krausm2	Overridden
Line Number 0400, Contract Line Item Number 0400, Item 6061061, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0150, Item Mumber 0150, Item 6089902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 401209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Typ	Number 0520, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action	Inspector to tag Line Number in Sample Record.	krausm2	Overridden
Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0150, Contract Line Item Number 0150, Item 6089902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming.		Change Order forthcoming.	krausm2	Acknowledged
Line Number 0150, Contract Line Item Number 0150, Item 6089902, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 00100, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming.		Change Order forthcoming.	krausm2	Acknowledged
Line Number 0050, Contract Line Item Number 0050, Item 4011209, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming.		Change Order forthcoming.	krausm2	Acknowledged
Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming.		Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming.		Change Order forthcoming.	krausm2	Acknowledged
Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. Krausm2 Acknowledged		Change Order forthcoming.	krausm2	Acknowledged
Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item. Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Change Order forthcoming. krausm2 Acknowledged		Change Order forthcoming.	krausm2	Acknowledged
		Change Order forthcoming.	krausm2	Acknowledged
		Change Order forthcoming.	krausm2	Acknowledged

Revision 3/23/2023 Page 5 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-F01	J6S3609	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	-	\$165,000.00	\$165,000.00
		0001	0020	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENTS	168.00	0.00	168.00	100F	166.20	\$1,200.00	\$199,440.00
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	542.00	0.00	542.00	SQYD	538.70	\$23.50	\$12,659.45
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	93.00	0.00	93.00	TONS	65.40	\$200.00	\$13,080.00
		0001	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,176.60	0.00	1,176.60	TONS	1,546.46	\$110.00	\$170,110.60
		0001	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	16,958.80	0.00	16,958.80	TONS	16,968.50	\$92.00	\$1,561,102.00
		0001	0070	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	5,733.10	0.00	5,733.10	TONS	5,448.84	\$110.00	\$599,372.40
		0001	0080	4071005	TACK COAT	23,196.00	0.00	23,196.00	GAL	20,706.00	\$2.50	\$51,765.00
		0001	0090	4132000	SCRUB SEAL	2,673.00	-2,673.00	0.00	SQYD	0.00	\$8.00	\$0.00
		0001	0100	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	491.60	0.00	491.60	SQYD	512.00	\$124.50	\$63,744.00
		0001	0110	6081012	TRUNCATED DOMES	30.00	0.00	30.00	SQFT	32.00	\$33.50	\$1,072.00
		0001	0120	6083006	6 IN. CONCRETE MEDIAN STRIP	164.30	0.00	164.30	SQYD	15.00	\$10.00	\$150.00
		0001	0130	6086004	CONCRETE SIDEWALK, 4 IN.	364.50	0.00	364.50	SQYD	389.93	\$86.00	\$33,533.98
		0001	0140	6086007	CONCRETE SIDEWALK, 7 IN.	11.00	0.00	11.00	SQYD	11.00	\$99.00	\$1,089.00
		0001	0150	6089902	MISC.ADA CURB RAMP	7.00	0.00	7.00	EA	8.00	\$3,050.00	\$24,400.00
		0001	0160	6099903	MISC.CONCRETE TROUGH WITH STEEL PLATE	6.00	0.00	6.00	LF	6.00	\$903.00	\$5,418.00
		0001	0170	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	0.00	\$0.01	\$0.00
		0001	0180	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2,256.50	0.00	2,256.50	TONS	2,376.35	\$112.00	\$266,151.20
		0001	0190	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	13,957.30	0.00	13,957.30	SQYD	11,960.80	\$6.50	\$77,745.20
		0001	0200	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$30,000.00	\$28,500.00
		0001	0210	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED & RETAINED	5.00	0.00	5.00	EA	5.00	\$4,500.00	\$22,500.00
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$250,000.00	\$250,000.00
		0001	0230	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN.	232.00	0.00	232.00	LF	232.00	\$3.75	\$870.00
		0001	0240	6200015	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,039.00	0.00	1,039.00	LF	960.00	\$17.75	\$17,040.00
				6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	240.00	0.00	240.00	LF	240.00	\$17.75	\$4,260.00
		0001	0260	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	27.00	0.00	27.00	EA	27.00	\$250.00	\$6,750.00
		0001	0270	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	8.00	0.00	8.00	EA	6.00	\$200.00	\$1,200.00
		0001	0280	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	9.00	0.00	9.00	EA	9.00	\$350.00	\$3,150.00
		0001	0290	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0300	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	75.00	0.00	75.00	EA	0.00	\$29.00	\$0.00
		0001	0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	153,062.00	0.00	153,062.00	LF	147,658.00	\$0.22	\$32,484.76
		0001	0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	181,751.00	0.00	181,751.00	LF	175,571.00	\$0.23	\$40,381.33
		0001	0330	6207001	PAVEMENT MARKING REMOVAL	19,265.00	0.00	19,265.00	LF	2,102.00	\$0.50	\$1,051.00
		0001	0340	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	59.00	0.00	59.00	EA	59.00	\$27.00	\$1,593.00
		0001	0350	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	40,710.00	0.00	40,710.00	SQYD	39,976.70	\$2.50	\$99,941.75
		0001	0360	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	15,561.00	0.00	15,561.00	SQYD	15,561.00	\$4.00	\$62,244.00
		0001	0370	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	17,221.00	0.00	17,221.00	SQYD	16,994.34	\$5.00	\$84,971.70
		0001	0380	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,200.00	\$2,200.00
		0010	0390	6061060	MGS GUARDRAIL	12,090.00	-300.00	11,790.00	LF	11,671.75	\$24.00	\$280,122.00
		0010	0400	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	500.00	900.00	1,400.00	LF	1,681.25	\$28.00	\$47,075.00
		0010	0410	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,800.00	\$11,200.00
		0010	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	50.00	4.00	54.00	EA	54.00	\$2,500.00	\$135,000.00
		0030	0430	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	15.00	0.00	15.00	LF	15.00	\$30.00	\$450.00

Revision 3/23/2023 Page 6 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Project Category Line Item Description Bid Net Total Unit Total Unit Price Total Value POSTED

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0119-F01	J6S3609	0030	0440	9026200	CONDUIT, 2 IN., MEDIAN WITH TRACER WIRE	16.00	0.00	16.00	LF	16.00	\$30.00	\$480.00
		0030	0450	9028308	CABLE, 16 AWG 2 CONDUCTOR	240.00	0.00	240.00	LF	240.00	\$1.20	\$288.00
		0030	0460	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE & PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$2,800.00	\$0.00
		0030	0470	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTON AND SIGNING VERBAL WALK MESSAGE	4.00	0.00	4.00	EA	4.00	\$1,900.00	\$7,600.00
		0030	0480	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	4.00	0.00	4.00	EA	4.00	\$670.00	\$2,680.00
		0030	0490	9029902	MISC.PEDESTRIAN PUSH BUTTON STANCHION	2.00	0.00	2.00	EA	3.00	\$1,400.00	\$4,200.00
		0030	0500	9029902	MISC.PULLBOX ADJUSTMENT	2.00	0.00	2.00	EA	2.00	\$420.00	\$840.00
		0030	0510	9029902	MISC.PUSHBUTTON EXTENSION	2.00	0.00	2.00	EA	0.00	\$215.00	\$0.00
		0030	0520	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	1.00	0.00	1.00	EA	1.00	\$44,218.00	\$44,218.00
		0040	0530	9031010	CONCRETE FOOTINGS, EMBEDDED	6.50	0.00	6.50	CUYD	6.50	\$1,500.00	\$9,750.00
		0040	0540	9031210	STRUCTURAL STEEL POSTS	3,690.00	0.00	3,690.00	LB	3,690.00	\$8.00	\$29,520.00
		0040	0550	9031220	PIPE POSTS	2,230.00	0.00	2,230.00	LB	2,230.00	\$8.00	\$17,840.00
		0040	0560	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	23.00	0.00	23.00	EA	23.00	\$375.00	\$8,625.00
		0040	0570	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	18.00	0.00	18.00	EA	18.00	\$150.00	\$2,700.00
		0040	0580	9031270A	2 IN. PSST POST - 12 GA.	1,473.00	0.00	1,473.00	LF	1,473.00	\$23.00	\$33,879.00
		0040	0590	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	108.00	0.00	108.00	EA	108.00	\$125.00	\$13,500.00
		0040	0600	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	23.00	0.00	23.00	EA	23.00	\$120.00	\$2,760.00
		0040	0610	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0040	0620	9031280	2.5 IN. PSST POST - 12 GA.	972.00	0.00	972.00	LF	972.00	\$25.00	\$24,300.00
		0040	0630	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	52.00	0.00	52.00	EA	52.00	\$200.00	\$10,400.00
		0040	0640	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	9.00	0.00	9.00	EA	9.00	\$250.00	\$2,250.00
		0040	0650	9035004A	SH-FLAT SHEET	1,261.00	0.00	1,261.00	SQFT	1,261.00	\$25.00	\$31,525.00
		0040	0660	9035011A	ST-STRUCTURAL	229.00	0.00	229.00	SQFT	229.00	\$45.00	\$10,305.00
		0040	0670	9035069A	SHF-FLAT SHEET FLUORESCENT	727.00	0.00	727.00	SQFT	727.00	\$30.00	\$21,810.00
		0040	0680	9039902	MISC.18 IN. SURFACE-MOUNT DELINEATOR POST	3.00	0.00	3.00	EA	3.00	\$150.00	\$450.00
		0040	0690	9039902	MISC.REMOVE & RELOCATE GROUND MOUNT SIGNS	28.00	0.00	28.00	EA	28.00	\$400.00	\$11,200.00
		0050	0700	9109903	MISC.MODOT ITS ASSETS RELOCATION	282.00	0.00	282.00	LF	0.00	\$12.00	\$0.00
		0070	0710	7133000	BRIDGE GUARDRAIL (W-BEAM)	84.00	0.00	84.00	LF	84.00	\$400.00	\$33,600.00
		0071	0720	7034600	CURB BLOCKOUT	205.00	0.00	205.00	LF	205.00	\$170.00	\$34,850.00
		0001	5001	4094002	SEAL COAT AGGREGATE, GRADE A2	0.00	2,673.00	2,673.00	SQYD	2,600.00	\$7.16	\$18,616.00
		0001	5002	4091048	EMULSIFIED ASPHALT, SEAL COAT	0.00	749.00	749.00	GAL	728.00	\$3.00	\$2,184.00
		0071	5003	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	0.00	1.00	1.00	EA	1.00	\$7,626.15	\$7,626.15
	Project J	6S3609 - To	otal Value	Posted to D	Date as of Report Generated Date							\$4,767,813.52
119-F01 Ove	erall - Total	Value Post	ted to Dat	e as of Repo	ort Generated Date							\$4,767,813.52

Revision 3/23/2023 Page 7 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3609

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/22/24	10/25/24	0.20	LS	Various locations	N/A		N/A		Posting made for removal of misc. existing guardrail. Remainder to be posted once all removals are completed
			10/29/24	11/4/24	0.05	LS	Various locations	N/A		N/A		Payment released due to all existing materials being removed from jobsite.
0020	2159910	MISC. SHAPING SLOPES	10/17/24	10/22/24	10.70	100F	NOR intersection with Route WW	128+00	LT	137+98	LT	11.9 STA - 0.9 STA (for 87.5 LF of 8' posts with no shaping slopes)
			10/22/24	10/25/24	8.60	100F	NOR intersection with Route WW in Sullivan	128+05	RT	133+02	RT	8.1 STA (plan quantity) + 0.5 STA (due to plan quantity not providing enough linear footage to reach the ending point of the run near STA 128+05) = 8.6 STA
			10/23/24	10/28/24	2.30	100F	SOR near Church Street	45+37	LT	46+47	LT	
				10/28/24	5.30	100F	NOR	135+39	RT	137+46	RT	5.9 STA - 0.5 STA (for 8' posts) = 5.3 STA
0230	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	10/31/24	11/4/24	232.00	LF	185/WW	2+87		3+89		
0240	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	10/31/24	11/4/24	791.00	LF	NOR/SOR at various locations	N/A		N/A		557 LF for NOR 234 LF for SOR
0250	6200018	PREF THERMO PVMT MARK, 24 IN YELLOW	10/31/24	11/4/24	240.00	LF	NOR at various locations	N/A		N/A		
0260	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	10/31/24	11/4/24	27.00	EA	NOR/SOR at various locations.	N/A		N/A		
0270	6200024	PREF THERMO PVMT MRKG, STRIAGHT ARROW	10/31/24	11/4/24	6.00	EA	NOR at route AF intersection	N/A		N/A		Total quantity shown on plan sheets is 6 EA.
0280	6200027	PREF THERMO PVMT MARKING, COMBO	10/31/24	11/4/24	9.00	EA	NOR/SOR at various locations	N/A		N/A		7 EA on NOR 2 EA on SOR
0290	6200030	PREF THERMO PVMT MARK, WORD (ONLY)	10/31/24	11/4/24	2.00	EA	NOR at Route AF	N/A		N/A		
0310	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	10/31/24	11/4/24	14,628.00	LF	NOR at various locations	N/A		N/A		Posting for NOR in Sullivan and hand work near NOR/4
				11/4/24	17,650.00	LF	SOR	10+00		85+60		
0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	10/31/24	11/4/24	14,031.00	LF	NOR at various locations	N/A		N/A		Posting for NOR in Sullivan and hand work near NOR/4
				11/4/24	15,385.00	LF	SOR	10+00		85+60		
0330	6207001	PAVEMENT MARKING REMOVAL	10/31/24	11/4/24	2,102.00	LF	NOR/SOR at various locations	N/A		N/A		2023 LF for NOR 70 LF for SOR
0340	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	10/31/24	11/4/24	59.00	EA	NOR/SOR at various locations	N/A		N/A		36 EA for NOR 23 EA for SOR
0390	6061060	MGS GUARDRAIL	10/17/24	10/22/24	925.00	LF	NOR intersection with Route WW	128+00	LT	137+98	LT	1012.5 LF - 87.5 LF (for 8' posts installed from STA 135+00 to 135+88)
			10/22/24	10/25/24	787.50	LF	NOR intersection with Route WW in Sullivan	128+05	RT	133+02	RT	737.5 LF (plan quantity) + 50 LF (due to plan quantity not providing enough linear footage to reach the ending poir of the run near STA 128+05) = 787.5 LF
			10/23/24	10/28/24	75.00	LF	SOR near Church Street	45+37	LT	46+47	LT	
				10/28/24	450.00	LF	NOR	135+39	RT	137+46	RT	500 LF - 50LF (8 - 8' posts installed) = 450 LF
0400	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	10/17/24	10/22/24	87.50	LF	NOR intersection with Route WW in Sullivan	135+00	LT	135+88	LT	(14) 8' posts at 6.25' spacing = 87.5 LF
			10/23/24	10/28/24	50.00	LF	NOR	135+00	RT	135+50	RT	(8) 8' posts installed = 50 LF
0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10/17/24	10/22/24	2.00	EA	NOR intersection with Route WW	128+00	LT	137+98	LT	
			10/22/24	10/25/24	1.00	EA	NOR intersection with Route WW in Sullivan	128+05	RT	128+05	RT	
			10/23/24	10/28/24	1.00	EA	NOR	137+46	RT	137+46	RT	
				10/28/24	2.00	EA	SOR near Church Street	45+37	LT	46+47	LT	
0440	9026200	CONDUIT, 2 IN., MEDIAN WITH TRACER WIRE	10/24/24	11/4/24	16.00	LF	Intersection of Route WW/185	N/A		N/A		
0450	9028308	CABLE, 16 AWG 2 CONDUCTOR	10/24/24	11/4/24	240.00	LF	Intersection of Route WW/185	N/A		N/A		
0470	9029902	MISC.	10/24/24	11/4/24	4.00	EA	Intersection of Route WW/185	N/A		N/A		
0480	9029902	MISC.	10/24/24	11/4/24	4.00	EA	Intersection of Route WW/185	N/A		N/A		
0490	9029902	MISC.	10/24/24	11/4/24	3.00	EA	Intersection of Route WW/185	N/A		N/A		Additional stanchion needed to be within ADA complian at corner of intersection nearest to Cracker Barrel
0520	9029902	MISC.	10/24/24	11/4/24	1.00	EA	Intersection of Route WW/185	N/A		N/A		
0570	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	10/30/24	11/4/24	18.00	EA	Along SOR near ZX Gas Station/Gerry Counts Auto	30+00		31+40		
0680	9039902	MISC.	10/30/24	11/4/24	3.00	EA	Intersection of Route WW/185	3+57		3+77		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 8 of 21



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0030	TYPE 5 AGGREGATE	Material	Туре	6	Jun 17, 2024	SYSTEM	(\$8,452.95)	
		FOR BASE			7	Jul 1, 2024	SYSTEM	(\$12,659.45)	
					8	Jul 16, 2024	SYSTEM	(\$12,659.45)	
				- Total				(\$33,771.85)	
			Material - Tota	ı				(\$33,771.85)	
			MaterialCredit		7	Jul 1, 2024	SYSTEM	\$8,452.95	
					8	Jul 16, 2024	SYSTEM	\$12,659.45	
					9	Aug 2, 2024	SYSTEM	\$12,659.45	
				- Total				\$33,771.85	
			MaterialCredit	- Total				\$33,771.85	
	0030 -							\$0.00	
	0050	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD		Sep 3, 2024	krausm2	(\$3,011.73)	08/16/2024 - 9/1/2024 Mix: BP1 23-25 Line No. 0050 Installed Quantity: 1,546.46 Tons Virgin AC %: 4.10% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$3,011.73
				ACAD - Tota				(\$3,011.73)	
			Other Item Ad	justment - To	tal			(\$3,011.73)	
			Overrun	Overrun		Sep 3, 2024	SYSTEM	(\$40,684.60)	
				Overrun - T	otal			(\$40,684.60)	
			Overrun - Tota	1				(\$40,684.60)	
	0050 -						0)/0===1	(\$43,696.33)	
	0060	BITUMINOUS PAVEMENT MIXTURE	Material		3	May 2, 2024	SYSTEM	\$478,724.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PG64-22 (SUR			3	May 2, 2024	SYSTEM	(\$478,724.76)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
			Other Item Adjustment	ACAD	4	May 16, 2024	krausm2	(\$3,312.85)	5/2/2024 - 5/15/2024 Mix: SL22-35 Line No. 0060 Installed Quantity: 3533.71 Tons Virgin AC %: 5.00% Current Index: 580.00 Base Index: 598.75 Difference: -18.75 Adjustment: -\$3,312.85
					5	Jun 3, 2024	krausm2	(\$7,716.81)	5-16-24 thru 6-01-24 Mix ID: SL22-35 Line No. 0060 Installed Quantity = 8,231.26 Tons Virgin AC = 5% Current Index = 580.00 Base Index = 598.75 Difference = -(18.75) Adjustment = -(\$7,716.81)
				ACAD - Tota	al			(\$11,029.66)	
			Other Item Ad	justment - To	tal			(\$11,029.66)	
			Overrun	Overrun	5	Jun 3, 2024	SYSTEM	(\$892.40)	
				Overrun - T	otal			(\$892.40)	
			Overrun - Tota	ıl				(\$892.40)	
	0060 -	Total						(\$11,922.06)	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
683609	0070	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	Other Item Adjustment	Type ACAD	11	Sep 3, 2024	krausm2	(\$11,129.26)	08/16/2024 - 9/1/2024 Mix: SP125 24-40 Line No. 0070 Installed Quantity: 5,448.84 Tons Virgin AC %: 4.30% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$11,129.26
				ACAD - Tota	al			(\$11,129.26)	
				PPPS	11	Sep 3, 2024	krausm2	(\$15,000.00)	Payment deduction due to pending samples from first night of SP125 production. Final adjustment to be made on next estimate.
					12	Sep 16, 2024	krausm2	\$15,000.00	Payment of \$15,000 is intended to reimburse contractor for -\$15,000 withheld on Estimate 0011. Deduct was included on Estimate 0011 due to pending samples from first night of SP125 production. Samples are no longer pending, see Superpave Contract Adjustment for Line No. 0070.
				PPPS - Tota	ıl			\$0.00	
			Other Item Ad	justment - To	tal			(\$11,129.26)	
	0070 -	Total						(\$11,129.26)	
	0100	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		6	Jun 17, 2024	SYSTEM	\$41,458.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Jun 17, 2024	SYSTEM	(\$41,458.50)	
					7	Jul 1, 2024	SYSTEM	(\$63,744.00)	
					8	Jul 16, 2024	SYSTEM	\$63,744.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Jul 16, 2024	SYSTEM	(\$63,744.00)	
				- Total				(\$63,744.00)	
			Material - Tota	1				(\$63,744.00)	
			MaterialCredit		8	Jul 16, 2024	SYSTEM	\$63,744.00	
				- Total				\$63,744.00	
			MaterialCredit					\$63,744.00	
			Overrun	Overrun		Jul 1, 2024	SYSTEM	(\$2,539.80)	
				Overrun - T	otal			(\$2,539.80)	
			Overrun - Tota	ıl				(\$2,539.80)	
	0100 - 0110		Material		7	Jul 1, 2024	SYSTEM	(\$2,539.80) \$1,005.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Jul 1, 2024	SYSTEM	(\$1,005.00)	,
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun	10	Aug 16, 2024	SYSTEM	(\$67.00)	
				Overrun - T	otal			(\$67.00)	
			Overrun - Tota	ıl				(\$67.00)	
	0110 -	Total						(\$67.00)	
	0130	CONCRETE SIDEWALK, 4 IN.	Material		5	Jun 3, 2024	SYSTEM	\$27,459.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 3, 2024	SYSTEM	(\$27,459.80)	
					6	Jun 17, 2024	SYSTEM	\$27,459.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Jun 17, 2024	SYSTEM	(\$27,459.80)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
J6S3609	0130	CONCRETE SIDEWALK, 4 IN.	Material	- Total				\$0.00											
		,	Material - Tota					\$0.00											
			Overrun	Overrun	7	Jul 1, 2024	SYSTEM	(\$2,186.98)											
				Overrun - T	otal			(\$2,186.98)											
			Overrun - Tota	ı				(\$2,186.98)											
	0130 -	Total						(\$2,186.98)											
	0150	MISC. CONCRETE	Material		6	Jun 17, 2024	SYSTEM	\$9,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 7 on the current Payment Estimate.										
					6	Jun 17, 2024	SYSTEM	(\$9,150.00)											
					7	Jul 1, 2024	SYSTEM	\$18,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 7 on the current Payment Estimate.										
					7	Jul 1, 2024	SYSTEM	(\$18,300.00)											
					8	Jul 16, 2024	SYSTEM	\$18,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.										
					8	Jul 16, 2024	SYSTEM	(\$18,300.00)											
					9	Aug 2, 2024	SYSTEM	\$21,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					9	Aug 2, 2024	SYSTEM	(\$21,350.00)											
					10	Aug 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					10	Aug 16, 2024	SYSTEM	(\$24,400.00)											
					11	Sep 3, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					11	Sep 3, 2024	SYSTEM	(\$24,400.00)											
					12	Sep 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
					12	Sep 16, 2024	SYSTEM	(\$24,400.00)											
					13	Oct 1, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
					13	Oct 1, 2024	SYSTEM	(\$24,400.00)											
					14	Oct 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
					14	Oct 16, 2024	SYSTEM	(\$24,400.00)											
									-						15	Nov 4, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$24,400.00)											
				- Total				\$0.00											
			Material - Tota					\$0.00											
			Overrun	Overrun	10	Aug 16, 2024	SYSTEM	(\$3,050.00)											
				Overrun - T	otal			(\$3,050.00)											
			Overrun - Tota					(\$3,050.00)											
	0150 -	Total						(\$3,050.00)											



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0160	MISC. PAVED DRAINAGE	Material		6	Jun 17, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Jun 17, 2024	SYSTEM	(\$5,418.00)	
					7	Jul 1, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user krausm2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					7	Jul 1, 2024	SYSTEM	(\$5,418.00)	
					8	Jul 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Jul 16, 2024	SYSTEM	(\$5,418.00)	
					9	Aug 2, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Aug 2, 2024	SYSTEM	(\$5,418.00)	
					10	Aug 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$5,418.00)	
					11	Sep 3, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Sep 3, 2024	SYSTEM	(\$5,418.00)	
					12	Sep 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Sep 16, 2024	SYSTEM	(\$5,418.00)	
					13	Oct 1, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					13	Oct 1, 2024	SYSTEM	(\$5,418.00)	
					14	Oct 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					14	Oct 16, 2024	SYSTEM	(\$5,418.00)	
					15	Nov 4, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$5,418.00)	
				- Total				\$0.00	
	0460	Total	Material - Tota					\$0.00	
	0160 - 0180	FURN & PLACE	Overrun	Overrun	3	May 2,	SYSTEM	\$0.00 (\$13,423.20)	
	0.00	BIT. MATL FOR CL C PARTIAL		Overrun - T		2024	3.01211		
			Overrun - Tota		otal			(\$13,423.20)	
	0180 -	Total	Overruii - Tota					(\$13,423.20)	
	0230	PREF THERMO	Material		15	Nov 4, 2024	SYSTEM	(\$870.00)	
		MARKING, 6 IN WHITE		- Total		2027		(\$870.00)	
			Material - Tota	l e				(\$870.00)	
	0230 -	Total						(\$870.00)	
	0240	PREF THERMO PVMT MARK, 24	Material		7	Jul 1, 2024	SYSTEM	(\$2,999.75)	



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
09 (0240	IN WHIT	Material		8	Jul 16, 2024	SYSTEM	(\$2,999.75)	
				- Total				(\$5,999.50)	
			Material - Tota	l				(\$5,999.50)	
			MaterialCredit		8	Jul 16, 2024	SYSTEM	\$2,999.75	
					9	Aug 2, 2024	SYSTEM	\$2,999.75	
				- Total				\$5,999.50	
	0240 -	Total	MaterialCredit	- I otal				\$5,999.50	
	0240 -	PREF THERMO	Material		15	Nov 4,	SYSTEM	\$0.00 (\$4,260.00)	
	0200	PVMT MARK, 24 IN YELLOW	Waterial		10	2024	OTOTEM		
			Material Total	- Total				(\$4,260.00)	
	0250 -	Total	Material - Tota	1				(\$4,260.00)	
	0250 -	PREF THERMO	Material		15	Nov 4,	SYSTEM	(\$4,260.00) (\$6,750.00)	
	0200	PVMT MARK, LT/RT ARROW	iviateriai		13	2024	STOTEM		
				- Total				(\$6,750.00)	
			Material - Tota	ı				(\$6,750.00)	
	0260 -		Matarial		45	Nav. 4	OVOTEM	(\$6,750.00)	
(0270	PREF THERMO PVMT MRKG, STRIAGHT	Material		15	Nov 4, 2024	SYSTEM	(\$1,200.00)	
		ARROW		- Total				(\$1,200.00)	
			Material - Tota	1				(\$1,200.00)	
	0270 -				L		0)10==11	(\$1,200.00)	
(0280	PREF THERMO PVMT MARKING,	Material		15	Nov 4, 2024	SYSTEM	(\$3,150.00)	
		COMBO		- Total				(\$3,150.00)	
			Material - Tota	ıl.				(\$3,150.00)	
	0280 -	PREF THERMO	Meterial		45	New 4	CVCTEM	(\$3,150.00)	
	0290	PVMT MARK, WORD (ONLY)	Material		15	Nov 4, 2024	SYSTEM	(\$500.00)	
		, ,		- Total				(\$500.00)	
			Material - Tota					(\$500.00)	
	0290 -		Meteric		7	Jul 4	CVCTEA:	(\$500.00)	
	0310	4 IN. YELLOW HIGH BUILD WATERBORNE	Material		7	Jul 1, 2024	SYSTEM	(\$25,383.60)	
		PAINT			8	Jul 16, 2024	SYSTEM	(\$25,383.60)	
				- Total				(\$50,767.20)	
			Material - Tota	ı				(\$50,767.20)	
			MaterialCredit		8	Jul 16, 2024	SYSTEM	\$25,383.60	
					9	Aug 2, 2024	SYSTEM	\$25,383.60	
				- Total				\$50,767.20	
			MaterialCredit	- Total				\$50,767.20	
			Other Item Adjustment	REFL	9	Aug 2, 2024	krausm2	\$1,260.55	0 LF at Unit Price of \$0.22 X 80% = \$0.00
									692.28 LF at Unit Price of \$0.22 X 100% = \$0.00
									114,687.72 LF at Unit Price of \$0.22 X 105% Bonus = \$1,260.55 Total Adjustment = \$1,260.55
				REFL - Tota				\$1,260.55	Total Aujustificit = \$1,200.00
								\$1,200.00	
			Other Item Ad					\$1,260.55	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J6S3609	0320	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL	9	Aug 2, 2024	krausm2	\$463.48	18,415.66 LF at Unit Price of \$0.23 X 80% = (\$845.77) 13,884.82 LF at Unit Price of \$0.23 X 100% = \$0.00	
									113,855.52 LF at Unit Price of \$0.23 X 105% Bonus = \$1,309.25	
				DEEL T /				A 100 10	Total Adjustment = \$463.48	
			Other Item Ad	REFL - Tota				\$463.48 \$463.48		
	0320 -	Total	Other item Au	justinent - 10	lai			\$463.48		
	0390	MGS	Construction		9	Aug 2,	SYSTEM	(\$8,448.03)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		GUARDRAIL	Stockpile		10	2024 Aug 16,	SYSTEM	(\$7,705.50)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					11	2024 Sep 3, 2024	SYSTEM	(\$26,969.25)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					12	Sep 16, 2024	SYSTEM	(\$16,461.75)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					13	Oct 1, 2024	SYSTEM	(\$11,383.12)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					14	Oct 16, 2024	SYSTEM	(\$64,569.39)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					15	Nov 4, 2024	SYSTEM	(\$32,145.02)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$167,682.06)		
			Construction	Stockpile - To	otal			(\$167,682.06)		
			Construction Stockpile STMI		4 May 16, SYSTEM 2024			\$169,380.90	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$169,380.90		
			Construction	Stockpile STI	/II - Total			\$169,380.90		
	0390 -		Operatoria		0	A O	OVOTEM	\$1,698.84	Description of the Adjustment represented Observation	
	0400	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$2,718.36)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		FT 3 IN			11	Aug 16, 2024 Sep 3,	SYSTEM	(\$2,525.39)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total	2024			(\$8,390.00)	r ayment Estimate nem Aujustment generated Stockpile Transaction	
			Construction		otal			(\$8,390.00)		
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$8,390.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$8,390.00		
			Construction	Stockpile STI	/II - Total			\$8,390.00		
			Overrun	Overrun	11	Sep 3, 2024	SYSTEM	\$3,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					11	Sep 3, 2024	SYSTEM	Estimate Item Adjustment (0008) due to user krau	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
				11 11 12	11	11	Sep 3, 2024	SYSTEM	\$1,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					11	Sep 3, 2024	SYSTEM	(\$10,150.00)		
					12	Sep 16, 2024	SYSTEM	(\$10,150.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
					12	Sep 16, 2024	SYSTEM	(\$7,000.00)		
					14	Oct 16, 2024	SYSTEM	\$13,125.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',28.00000 - 28.00000, 'is applied (if non-zero).	
					15	Nov 4, 2024	SYSTEM	(\$3,850.00)		



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J6S3609	0400	MGS GUARDRAIL, 8	Overrun	Overrun - T	otal			(\$7,875.00)	
		FT. POSTS, 6 FT 3 IN	Overrun - Tota	ıl				(\$7,875.00)	
	0400 -	· Total						(\$7,875.00)	
	0410	MGS BRIDGE APP. TRANS	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$8,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		SEC (REG/NO CURB)		- Total				(\$8,500.00)	
			Construction	Stockpile - To	otal			(\$8,500.00)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$8,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$8,500.00	
			Construction	Stockpile STI	MI - Total			\$8,500.00	
	0410 -	Total						\$0.00	
	0420	TYPE A CRASHWORTHY	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$14,360.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)			10	Aug 16, 2024	SYSTEM	(\$10,770.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Sep 3, 2024	SYSTEM	(\$12,565.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Sep 16, 2024	SYSTEM	(\$21,540.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					13	Oct 1, 2024	SYSTEM	(\$7,180.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					14	Oct 16, 2024	SYSTEM	(\$13,362.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
					15	Nov 4, 2024	SYSTEM	(\$9,972.22)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$89,750.00)	
			Construction	Stockpile - To	otal			(\$89,750.00)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$89,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$89,750.00	
			Construction	Stockpile STI	MI - Total			\$89,750.00	
	0420 -	Total						\$0.00	
	0450	CABLE, 16 AWG 2 CONDUCTOR	Material		15	Nov 4, 2024	SYSTEM	\$288.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user krausm2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$288.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0450 -	· Total						\$0.00	
	0470	MISC.	Material		15	Nov 4, 2024	SYSTEM	\$7,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user krausm2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$7,600.00)	-
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0470 -	Total						\$0.00	
	0480	MISC.	Material		15	Nov 4, 2024	SYSTEM	\$2,680.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user krausm2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$2,680.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0480 -	· Total						\$0.00	
	0490	MISC.	Material		15	Nov 4,	SYSTEM	\$4,200.00	This adjustment offsets the original system-generated Material Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0490	MISC.	Material	, , , , , , , , , , , , , , , , , , ,		2024			Estimate Item Adjustment (0017) due to user krausm2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$4,200.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Overrun	Overrun	15	Nov 4, 2024	SYSTEM	(\$1,400.00)	
				Overrun - T	otal			(\$1,400.00)	
			Overrun - Tota	ıl				(\$1,400.00)	
	0490 -	Total						(\$1,400.00)	
	0520	MISC.	Material		15	Nov 4, 2024	SYSTEM	\$44,218.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user krausm2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$44,218.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0520 -	Total						\$0.00	
	0540	STRUCTURAL STEEL POSTS	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$9,623.52)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$3,992.58)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$13,616.10)	
			Construction	Stockpile - To	otal			(\$13,616.10)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$1,236.15	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTWI		6	Jun 17, 2024	SYSTEM	\$12,379.95	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total Construction Stockpile STMI - Total					\$13,616.10	
			Construction	Stockpile STI	VII - Total			\$13,616.10	
	0540 -	Total						\$0.00	
	0550	PIPE POSTS	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$6,224.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$2,450.70)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,674.70)	
			Construction	Stockpile - To			0)10==	(\$8,674.70)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$8,228.70	Payment Estimate Item Adjustment generated Stockpile Transaction
					6	Jun 17, 2024	SYSTEM	\$446.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	MI Total			\$8,674.70	
	0550 -	Total	Construction	Stockpile STI	wi - Total			\$8,674.70	
	0550 -	BREAKAWAY ASSEMBLY	Material		4	May 16, 2024	SYSTEM	\$0.00 (\$6,750.00)	
		(PERFORATED SQUARE STEEL			8	Jul 16,	SYSTEM	\$7,875.00	This adjustment offsets the original system-generated Material Payment
		TUBE)				2024	OTOTEM	ψ1,013.00	Estimate Item Adjustment (0012) due to user krausm2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
			8	8	Jul 16, 2024	SYSTEM	(\$7,875.00)		
					9	Aug 2, 2024	SYSTEM	\$8,625.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Aug 2, 2024	SYSTEM	(\$8,625.00)	
				- Total				(\$6,750.00)	
			Material - Tota					(\$6,750.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0560	BREAKAWAY ASSEMBLY	MaterialCredit		5	Jun 3, 2024	SYSTEM	\$6,750.00	
		(PERFORATED SQUARE STEEL		- Total				\$6,750.00	
		TUBE)	MaterialCredit	- Total				\$6,750.00	
	0560 -	Total						\$0.00	
	0570	36 IN. SURFACE- MOUNT	Construction Stockpile		15	Nov 4, 2024	SYSTEM	(\$621.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		DELINEATOR		- Total				(\$621.00)	
		POST	Construction	Stockpile - To	tal			(\$621.00)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$621.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$621.00	
			Construction	Stockpile STI	/II - Total			\$621.00	
	0570 -	Total						\$0.00	
	0580	2 IN. PSST POST - 12 GA.	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$565.97)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Jun 3, 2024	SYSTEM	(\$961.54)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jul 16, 2024	SYSTEM	(\$57.81)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$115.62)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$482.08)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,183.02)	
			Construction	Stockpile - To	otal			(\$2,183.02)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$2,183.02	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$2,183.02	
			Construction	Stockpile STI	/II - Total			\$2,183.02	
	0580 -	Total						\$0.00	
	0590	DRIVEN POST ANCHOR FOR 2	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$242.72)	Payment Estimate Item Adjustment generated Stockpile Transaction
		IN. PSST - 12 GA.			5	Jun 3, 2024	SYSTEM	(\$485.46)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jul 16, 2024	SYSTEM	(\$24.27)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$218.45)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$970.90)	
			Construction	Stockpile - To	otal			(\$970.90)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$970.90	Payment Estimate Item Adjustment generated Stockpile Transaction
			CTIVII	- Total				\$970.90	
			Construction	Stockpile STI	/II - Total			\$970.90	
	0590 -	Total						\$0.00	
	0620	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$30.91)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Jun 3, 2024	SYSTEM	(\$26.88)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jul 16, 2024	SYSTEM	(\$198.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
						Aug 2, 2024	SYSTEM	(\$192.95)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$448.78)	
			Construction :	Stockpile - To	otal			(\$448.78)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$448.78	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$448.78	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0620	2.5 IN. PSST	Construction		Type cockpile STMI - Total				
	POST - 12 GA.							20.00	
	0620 - 0630	DRIVEN POST	Construction		4	May 16,	SYSTEM	\$0.00 (\$34.36)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0630	ANCHOR FOR	Stockpile		4	2024	STSTEIN	(\$34.30)	rayment Estimate item Adjustment generated Stockpile Transaction
		2.5 IN. PSST - 7 GA.			5	Jun 3, 2024	SYSTEM	(\$34.36)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jul 16, 2024	SYSTEM	(\$171.80)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$120.26)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$360.78)	
			Construction	Stockpile - To	otal			(\$360.78)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$360.78	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$360.78	
			Construction Stockpile STMI - Total					\$360.78	
	0630 -						a	\$0.00	
	0650	SH-FLAT SHEET	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$42.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Jun 3, 2024	SYSTEM	(\$597.34)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jul 16, 2024	SYSTEM	(\$156.57)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$327.08)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$434.51)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,557.50)	
			Construction Stockpile - Total					(\$1,557.50)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$1,557.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,557.50	
			Construction Stockpile STMI - Total					\$1,557.50	
	0650 -	Total						\$0.00	
	0660	ST- STRUCTURAL	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$484.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$375.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					(\$859.20)	
			Construction	Stockpile - To				(\$859.20)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$859.20	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$859.20	
	0000		Construction Stockpile STMI - Total					\$859.20	
	0660 -		Construct		4	Men 10	CVCTE	\$0.00	Downsont Cating to Hom Adjustment and activities of the Co. 1. 11. The Co.
	0670	SHF-FLAT SHEET FLUORESCENT	Stockpile		4	May 16, 2024	SYSTEM	(\$131.08)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Jun 3, 2024	SYSTEM	(\$83.47)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$25.86)	Payment Estimate Item Adjustment generated Stockpile Transaction
				Total	10	Aug 16, 2024	SYSTEM	(\$39.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	otol			(\$280.00)	
			Construction	Stockpile - To	4	May 16,	SYSTEM	(\$280.00) \$280.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	Total		2024		£20 <u>0.00</u>	
				- Total				\$280.00	



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3609	0670	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile STMI - Total					\$280.00	
	0670 -	Total						\$0.00	
	0680	MISC.	Construction Stockpile		15	Nov 4, 2024	SYSTEM	(\$85.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$85.50)	
			Construction	Stockpile - To				(\$85.50)	
			Construction Stockpile STMI	- Total	4	May 16, 2024	SYSTEM	\$85.50 \$85.50	Payment Estimate Item Adjustment generated Stockpile Transaction
					MI Total			\$85.50	
	Construction Stockpile STMI - Total 0680 - Total							\$0.00	
	0720	CURB BLOCKOUT	Material		9	Aug 2, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Aug 2, 2024	SYSTEM	(\$34,850.00)	Estimate Exception 3 of the current rayment Estimate.
					10	Aug 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$34,850.00)	
					11	Sep 3, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	Sep 3, 2024	SYSTEM	(\$34,850.00)	
					12	Sep 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					12	Sep 16, 2024	SYSTEM	(\$34,850.00)	
					13	Oct 1, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					13	Oct 1, 2024	SYSTEM	(\$34,850.00)	
					14	Oct 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					14	Oct 16, 2024	SYSTEM	(\$34,850.00)	
					15	Nov 4, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user krausm2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$34,850.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0720 -							\$0.00	
	5002	EMULSIFIED ASPHALT, SEAL COAT	Material		12	Sep 16, 2024	SYSTEM	(\$2,184.00)	
					13	Oct 1, 2024	SYSTEM	(\$2,184.00)	
					14	Oct 16, 2024	SYSTEM	(\$2,184.00)	
					15	Nov 4, 2024	SYSTEM	(\$2,184.00)	
				- Total				(\$8,736.00)	
			Material - Tota		40	0-1-1	OVOTELS	(\$8,736.00)	
			MaterialCredit		13	Oct 1, 2024	SYSTEM	\$2,184.00	

Nov 6, 2024



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	5002	EMULSIFIED ASPHALT, SEAL COAT	MaterialCredit		14	Oct 16, 2024	SYSTEM	\$2,184.00	
					15	Nov 4, 2024	SYSTEM	\$2,184.00	
				- Total				\$6,552.00	
			MaterialCredit	- Total				\$6,552.00	
			Other Item Adjustment	SEAL	12	Sep 16, 2024	krausm2	(\$151.32)	09/02/2024-9/15/2024 Emulsified Asphalt: CRS2-P5C Line No. 05002 Installed Quantity: 728 gallons Current Index: 527.50 Base Index: 598.75 Difference: -71.25 Adjustment: -\$151.32
				SEAL - Total				(\$151.32)	
			Other Item Ad	justment - To	tal			(\$151.32)	
	5002 - Total							(\$2,335.32)	
	5003	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material		10	Aug 16, 2024	SYSTEM	\$7,626.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$7,626.15)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	5003 - Total							\$0.00	
J6S3609 -	- Total							(\$112,932.08)	
Overall - Total								(\$112,932.08)	



Contract Adjustments for Contract - 240119-F01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
12	J6S3609	Other Contract Adjustment	SPAD	(\$14,384.94)	100	Sep 16, 2024	krausm2	Job number: J6S3609 Line Number 0070 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX) Pay factor SP125 (70-22) Lot 1 = 97.6% Superpave Adj per MoDOT template Adjustments made as per calculations for SPAD by Michael Meyerhoff. Reference file stored at below address. http://eprojects/Docs/6S3609/240119_F01_J6S3609_Line_No0070_Superpave_Lot_1_EXT_Pay_Factor.pdf
		Other Contract Adjustment	TSR	\$17,981.17	100	Sep 16, 2024	krausm2	Job number: J6S3609 Line Number 0070 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX) Pay factor SP125 (70-22) Lot 1 = 92% Superpave Adj per MoDOT template Adjustments made as per calculations for TSR by Michael Meyerhoff. Reference file stored at below address. http://eprojects/Docs/6S3609/240119-F01_J6S3609_Line_No0070_TSR_Superpave_Lot_1_EXT_Pay_Factor.pdf
12 - Total	12 - Total				\$3,596.23			
Overall -	Overall - Total				\$3,596.23			

Revision 3/23/2023 Page 21 of 21